
Eaux superficielles: produites à l'intéreur du pays
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Eaux souterraines: produites à l'intéreur du pays
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(a) Overlap is less than 100% of groundwater recharge; most the groundwater is drained by rivers and becomes the low flow of water courses. Some groundwater (+/- 2 km3/yr)
flows out into the sea as there is a long coast.
(b) EUROSTAT gives a value of 179.95 km3 (Source: EUROSTAT. 2015. EUROSTAT database. http://ec.europa.eu/eurostat/data/database. Accessed on 01/06/2015)
(c) Net inflow estimated at 10 km3/yr from Switzerland, 1 km3/yr from Spain, negligible from Belgium.
(d) Rhine excluded
(e) Net outflow estimated at 7 km3/yr to Belgium, 5 to Germany, 5 to Luxembourg and Germany (Moselle), 0.5 to Spain, 0.5 to Italy.
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Calcul des ressources en eau renouvelables (RER) par pays (km³/an, moyen)
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